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In this test, you have to use facts and figures presented in statistical tables to answer the questions.

- Chair and Stool Production
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Production in Thousands

1 2 3 4 5 B
Year

1. By how many units did combined stool and chair production vary between years 5 and 6?
A 10 B No Change C 10,000 D 5,000 Your choice ()

2. If total production costs in year 4 were £142,000 and it costs £2.90 to produce one chair, how much did it cost

to produce one stool?
A £2.80 B £2.75 C £2.65 D Cannot say Your choice ()

3. On average, what percent of total production did chairs account for over the whole six year period?

A57.9% B42.1% C52.1% D 41.0% Your choice ()
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